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Use elimination to solve the

system of equations.

3x+8y =14
S5x —8y=2

(2,-4)

(2,2)

Biall G b oo Olilsall daliil > P2

oY aleall sl Ja us XN PRES

3x+8y =14
S5x -8y =2
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D

O (2,—-4) :
O (2’ 2) b
O (2,1)

O (1,-2) .
0
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HA> 93 jued giye ail sly| :P2
Find the product oy gl sagl
(Sx +2)* (5x +2)?

25x% - 20x — 4 b

258¥2 — 1Ny — 4



25x%2 +20x + 4

25x% —20x — 4

25x2 - 10x—4

25x2 4+ 10x+ 4
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O

x =050
x =-50
x=5x=10

x=-5x=-10



Solve the equation

(x—5)(x—10) = 0.

deuall Ol OVsleall J> P2: x2+bx+c=0

alalaal) Ja
(x-=5)(x—-10)=0
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D Bpall Sl g2l SWW Jula P2: axA2+bx+c
Factor 2x? + 3x + 1. Jalgadl N 2x2 +3x+ 1 Ja
O 2x+1)(x—-1)
O 2x+ 1)(x+1)
o (x+2)(x - 1)




2x+1)(x—1)

2x+ D(x+ 1)

(x+2)(x—1)

(x+1)(x+2)



Solve the equation
(x —7)* =25.

O XxX=-2,x=-12

O x=2,x=12

O x=-2,x=5

dlolS Olsuye aual il OVslrall > :P2

alsleal) Ja
(x—=7)2 =25



x=2,x=12

x=“2'x25
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D Sx+2y=4
o oasgaill :
Substitution

iyl AlAAiul cadal)

Elimination using multiplication

gkl aladiuls casal)
Elimination using subtraction
Il

acaad) alaaiul cadal)
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Simplify the expression.

(x5)4(8xy3)2-

16112}’5

64x22y"

8x10y>

A_2023 -2022 - (il gwhall Juadll - 22y - Sladl I - ple guld] iuall

gl Upo joled aliniwl julelll buys :P2

By bl puail) Ja
(x5)" (8xy?)?
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16x1%y°
64122}’6
5

Bxlﬂy

64120_}’6
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tZ

@) ———
4r>
—25r
O 20¢8
tB
O —
415

D 20



Simplify the expression.

5¢°
20r5¢—6°
tZ
) S
41>
—257r
O 20¢8

8y0u0 buwl 4 809 Al guwl e 4 ginall julnill Jygai :P2

Byga Bl juadl) Jga
5¢*
2015t °
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D Q! Byl e CYolae)l dalail (|> P2
Use elimination to solve the CYslaall Al Ja A Cidal) aadid
system of equations. gx + gy f ;4
3x + 8y = 14 X—8=
Sx -8y =2
O (1,-2) 2
o O (2.1) :

eyl plall gutall .
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O 325 x 102
@) 325 x 102
O 3.25 x 10*

O 3.25x 10~*
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walell jueyill slacll e yueill :P2

Express 32,500 in scientific notation. calad) 10316 32,500 o e
O 325 x 1072
@ 325 x 10? b
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Which graph represents the solution 1.;—;1_.;;...5,.:.&'._};,3:..,_,.4.*,...1_;1

of the system of inequalities? v=x-1
_"EI_E }'5—31-3

y=-3x-3
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> .

o v2 :
2

o 3+V2 )
2

O 6+ 3V2
2

O 6""3\{5 i

1 2
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Which expression

o 3°v2
2
@ 3+V2

dumy Ul jgiall dawdll uols plaziwl &)ix)l yuledl buw ;P2

? ¢

3 3 ‘
J - AK. AE) uladl) )
2-V2 2—yz - s S el o

is equivalent to



J Gamalean U
- XTI QA
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0 daall 013 OYalas)l > P2: x2+bx+c=0
Solve the equation Alalaad) s
(x—=5)(x—10) = 0. (x—=5)(x—10)=0
O X = 50 a
@) x =-50 b

| gkl .



Solve the equation

(x —7)% = 25.
x 22 0%=15
x=-2,x=-—12
x=2,x=12

dbl§ Olyye peauall (Ul SVslall J> :P2

alslaal) Ja
(x—=7)"=125



x=-2,x=-12

xX=20x =12

x=-2,x=5
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Refer to the Venn diagram that
represents the sports students chose

to play at Umm Al Quwain High

School last year.

A 2023 -2022 - il ywlyadl Laddl - 2asy - Sleal - ple pwldl iuall
o9 JBal "al* Juadllg "9 huyll Olgsl JulaT P2: Venn

Sk S s Venn d bhi sl
& ) 1l 0l dual ) Gty
galal) alall Lugilill Gagadl) af dsjra

Caddl) 5)S |gaad Cudl) LUl ae aS

How many students played football?

Sports

Football

52

Tennis

32

dio U ) el ¥

saill 3,5 s

52 32
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79

27

52

85
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SAlnall dabail Yo ddy yb Jussl ayaxs :P1

. best method to Lo oleal) a3 Jad Ayl Jiad) sas
em of equations. y=7x-3
5x+2y=4

readl alasiub aall
Elimination using addition

eyl

. b
Substitution
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t—l@-“ Phal.nh aiall

Elimination using addition

e gadl)
- b
Substitution
Gpall aladiul cadal)
.
Elimination using multiplication
:).h."l PIKENE aial)
d

Elimination using subtraction
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itermine the Jelad) ase waadl bl acl) asdil
s for the system. .alaill




= A 2023 -2022 - pll gwlyadl Jadll - 22y - Sl Yl - sle gl auall

J_,.\aJ\;,..,T_,.'-Lg.'.‘j kXS

Infinite solutions

Ja 1ap Y

No solution
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Look at the pattern below. sl B 0 B3
If the pattern continues, what will !ﬁlﬁﬂgﬁ.ﬂ..&.ﬂ,ﬂﬂ
be the next shape?

N

)
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3x? — 15x

3x% + 15

3x+ 15

3x% 4+ 15x

A_2023 -2022 - (il gwhall Juadll - 223y - Sladl )l - ple guldl iuall



7447 | [ o 20-8 o cHSB A_2023 -2022 - il gwhall Jadll - 225 3 - Sludl i - sle pulill Gall | =

D 4y b plaALwl guaall Sled wpd P1: FOIL
Find the product wpa gl Al
(3x)(x+5). (3x)(x+5)

O 3x% — 15x
@) 3x2 + 15
] O 3x+ 15
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D 4y b plaALwl guaall Sled wpd P1: FOIL
Find the product wpa gl Al
(3x)(x+5). (3x)(x+5)

O 3x% — 15x
@) 3x2 + 15
] O 3x+ 15
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O

3x? — 15x

3x% + 15

3x+ 15

3x% 4+ 15x

A_2023 -2022 - (il gwhall Juadll - 223y - Sladl )l - ple guldl iuall
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Determine the best method to LY alaadl allad Jad u.; b bl saa
solve the system of equations. y=7x-3
y=7x-3 Sx+2y=4
Sx+2y=4

paall aladiuls cadal)
Elimination using multiplication

sl

Substitution
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Cipall aladiul cadal)

Elimination using multiplication

gl

Substitution

Elimination using subtraction

raal) aladiul cidal)

Elimination using addition
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D > bg dgaall DS ga> :P1
Find the difference z b sl _q,_,i
(2¢® + 5¢?) — (c?). (2c¢® +5¢%) - (¢%)

@) —-2¢3 + 6¢2

O 2¢? + 6¢2 b

: O 2¢3 + 4c? p
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D

A_2023 -2022 - il whyall Juadll - 235 - Slasl I -

O —2¢3 + 6¢7
O 2¢3 + 6¢2
O 2¢3 + 4c¢?

O 3 + 4c¢?

ale rulil Wuall
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N 020-30 cHSBE
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Which graph represents the solution

of the system of inequalities?

y<x-2
y<-3x-3

A_2023 -2022 - (il gwhall Juadll - 223y - Sladl I - ple gl uall

Wyl Juladly duas)l OlyLiall dakil J> :P1

libial) sl Ja Jias il an)
y<x-—2
y<-3x-3



Use the Distributive Property to
factor the polynomial.

21x+ 7y.

3(7x+y)

7(x+vy)

& jelll Auols slaziwl Jolgmll (Jl 3922l 5,408 yalaall Julzi :P1

3gaall ii);nS Jalad! t‘).’l“ dali PRESI
21x+ 7y
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3(7x+y)

7(x+y)

7(3x+y)

3(x+y)
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